
2 7 + 5 =
2 7 + 3 = 3 0
3 0 + 2 = 3 2

2 7 + 5 =
7 + 5 = 1 2

4 8 + 6 =
+ =
+ =

4 8 + 6 =
+ =

6 3 + 9 =
+ =
+ =

6 3 + 9 =
+ =

6 4 + 8 =
+ =
+ =

6 4 + 8 =
+ =

5 7 + 7 =
+ =
+ =

5 7 + 7 =
+ =

Addieren	mit	Überschreiten
Du	hast	2	Möglichkeiten	zu	rechnen:

Annas	Weg:
„Ich	nutze	den	Werkzeugkoffer:	...	bis	zur
10	und	dann	weiter	...!“

Toms	Weg:
„Ich	rechne	erst	die	kleine	Aufgabe
(Grundaufgabe)	und	dann	die	große
Aufgabe1“

Mir	fällt	es	am	leichtesten,	wenn	ich	rechne	wie:	5666666666667


